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QUESTION 1

Select and Place: 

Correct Answer:  

 

QUESTION 2

Which two IEs are ignored by the LTE domain when the EPS QoS parameter is mapped to the R99 QoS parameter?
(Choose two.) 

A. pre-emption capability 

B. ARP priority 

C. MBR of PDP context associated with the background traffic class 

D. MBR of PDP context associated with the interactive traffic class 

E. pre-emption vulnerability 

Correct Answer: AE 
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QUESTION 3

You are configuring the Cisco ASR 5000 Serving Gateway. You want to configure a reference point between the
eNodeB and the SGW for the user plane and inter-eNodeB path switching during handover. Which option describes
where the interface IP address associates? 

A. The address associates to the SGW service. 

B. The address associates to the GTPU service. 

C. The address associates to the EGTP service. 

D. The address associates to the S1U service. 

Correct Answer: B 

 

QUESTION 4

Which network function converts Voice over LTE voice bearer to PSTN voice bearer? 

A. border gateway control function 

B. media gateway function 

C. multimedia resource function 

D. session border controller function 

Correct Answer: B 

 

QUESTION 5

The IP pools that are configured on the Cisco ASR 5000 are used for address allocation. AAA and DHCP have not been
enabled from the PGW. Which two parameters does the Cisco ASR 5000 PGW use to generate the subscriber ID for IP
address allocation? (Choose two.) 

A. IMEI 

B. MSISDN 

C. EPS bearer ID 

D. IMSI 

E. username 

Correct Answer: DE 
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